8.2 day 2 notes 2017 18.notebook

<u>p450</u> 17, 19, 17, 9, 15. P.450 # 1-8, 9-19 olds H.b 2) 5 6 /4 (4) 1/3 16 $\begin{array}{ccc} x \rightarrow 0 & x & y \\ \lim_{X \rightarrow 0^{-}} \frac{\cos \chi}{3 \chi^{2}} \Rightarrow \left(\begin{array}{c} \frac{1}{0} \\ 0 \end{array} \right) \end{array}$ 9) a) $\lim_{x \to 0} \frac{\sin 4x}{\sin 2y} = \frac{0}{0}$ $\lim_{\chi \to 0} \frac{4\cos 4\pi}{2\cos 4\pi} = \frac{4}{2} = 6$ b) $\lim_{\chi \to 0^+} \frac{4\cos 4x}{2\cos 4x} = \frac{4}{2}$ Zret

$$(5) \lim_{X \to \infty} \frac{\ln(x+i)}{\log_2 x} = \frac{1}{\infty}$$

$$\lim_{X \to \infty} \frac{1}{\frac{1}{\sqrt{1}}} = \lim_{X \to \infty} \frac{x \ln 2}{x+1} = \lim_{X \to \infty} \frac{\ln 2}{1}$$

$$(5) \lim_{X \to \infty} \frac{1}{\frac{1}{\sqrt{1}}} = \lim_{X \to \infty} \frac{x \ln 2}{x+1} = \lim_{X \to \infty} \frac{\ln 2}{1}$$

$$(6) \lim_{X \to 0^+} (x \ln x) = 0 - \infty$$

$$\lim_{X \to 0^+} \frac{1}{\frac{1}{\sqrt{1}}} = \lim_{X \to 0^+} (-x) = 0$$

$$(6) \lim_{X \to 0^+} \frac{1}{\frac{1}{\sqrt{1}}} = \lim_{X \to 0^+} (-x) = 0$$

$$(7) \lim_{X \to 0^+} (25c x - 6c t x + 6c s x)$$

$$\lim_{X \to 0^+} \frac{1}{5inx} - \frac{6c s x}{5inx} + \frac{6c s x \cdot sinx}{5inx})$$

$$\lim_{X \to 0^+} \frac{1 - 1}{5inx} + \frac{1 - 0}{5inx}$$

$$\lim_{X \to 0^+} \frac{1 - 1}{5inx} + \frac{1 - 0}{5inx}$$

$$\lim_{X \to 0^+} \frac{1 - 1}{5inx} + \frac{1 - 0}{5inx}$$

$$\lim_{X \to 0^+} \frac{1 - 1}{5inx} + \frac{1 - 0}{5inx}$$

$$\lim_{X \to 0^+} \frac{1 - 1}{5inx} + \frac{1 - 0}{5inx}$$

$$\lim_{X \to 0^+} \frac{5inx + 6c s x (cos x) + 5inx (-sinx)}{6c s x}$$

$$\lim_{X \to 0^+} \frac{5inx + 6c s^2 x - 5in^2 x}{6c s x}$$

$$\lim_{X \to 0^+} \frac{5inx + 6c s^2 x - 5in^2 x}{6c s x}$$

More 8.2: In determinate forms:
$$\int_{-\infty}^{\infty} 0^{\circ}, \infty^{\circ}$$

 $e^{\ln b} = b$, $e^{\ln f(x)} = f(x)$
If $\lim_{x \to a} \ln f(x) = L$, then
 $\lim_{x \to a} e^{\ln f(x)} = e^{L}$, then
 $\lim_{x \to a} f(x) = e^{L}$, then
 $\lim_{x \to a} f(x) = e^{L}$
(i) $\lim_{x \to b} (1 + \frac{L}{x})^{x}$ $(1 + \frac{L}{bs})^{\infty} = (1 + 0)^{m}$
First: find $\lim_{x \to \infty} \ln (1 + \frac{L}{x})^{x}$
 $\lim_{x \to \infty} \frac{L}{x} + \frac{L}{x^{2}} = \frac{L}{0}$
 $\lim_{x \to \infty} \frac{L}{x} + \frac{L}{x^{2}} = \lim_{x \to \infty} \frac{L}{1 + \frac{L}{x}} = 1$
 $\lim_{x \to \infty} \frac{L}{x} + \frac{L}{x^{2}} = \lim_{x \to \infty} \frac{L}{1 + \frac{L}{x}} = 1$
 $\lim_{x \to \infty} \frac{L}{x} + \frac{L}{x^{2}} = 2^{L} = e$
(c) Find $\lim_{x \to 0^{L}} \chi^{x}$
 $= \lim_{x \to 0^{L}} \frac{L}{x} + \frac{L}{x^{2}} = \lim_{x \to 0^{L}} \frac{L}{x} = 1$
 $\lim_{x \to 0^{L}} \frac{L}{x} + \frac{L}{x^{2}} = 1$
 $\lim_{x \to 0^{L}} \frac{L}{x} + \frac{L}$